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L _Equah'on of  Trocheid

-Goal": Weite dowa equ.oh‘ens o~ :

x(0) = X co-ord .oc P.
y() = Yy Ce-orcd of P.



Coorclinates of center of Circle:

X = r:6

ﬁ@ﬂ%

A e

d - $in(O)
Coordo’naFG/) of +he 'pu'nl- P:
X = r-6 - d-sin(e)
y= r - dcos(6)

: These are +he paramedric
e7ua+ions of +he 'M:-choid.
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® HOf‘i"E,oN\'d.\ . dy
Tangent line dt °.

® V‘efHCG‘ o, d*
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Example .
x(£)= 3t*H  yH) = 20+

Find +angeat line o point (4, 3.).
$.°|u,H0ﬁ-
Value of t: 3*+l =4
_ 2t*+1 = 3
Soluken @ (t=]
Calcutate dy/y, :
| dx |
— = 6t °x =6

dt dt



dy _ 2 d
Sl oy _ 6o
dX |z dx )= (4,3) 4
Filrnal answer: . _

= 1 (x-4).

Y - 3
5. Arc Lenghh _
If x(¢) ond y(t) are the
Parame#ic equations giving the
position of o perhicle af fime
t, +he clistance covered by
Hhe parHcl-'- betweeqa t=a

ond t=b is .



'Dls-l-ance ='fb s(+) dt
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Fmd Hhe \enj-H\ of H\& curve
x(t) = t x'(t)= I (14¢) - t ()

. I+¢€ (1+¢)*
Yy = pa(l4t) ‘
between t=0 and t=?...
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